Economics: The Basics, 2e

Study Guide: Chapter 12 Appendix

Learning Objectives

LO12A-1 Define aggregate supply and aggregate demand.

LO12A-2 Describe the effect of an aggregate supply or demand shift on prices and output.

Outline

· Aggregate Demand (AD) shows the relationship between the average price level and the aggregate quantity demanded.

· AD = Consumption + Nonresidential Investment + Residential Investment + Government Consumption and Investment + Inventory Investment + Net Exports

· AD = C+NR+R+G+I+NX

· Aggregate quantity demanded and the average price level are inversely related because of three things: 

· Wealth Effect 

· Interest Rate Effect 

· Exchange Rate Effect
· Aggregate Supply (AS) shows the relationship between the average price level and the quantity of goods and services produced.

· The long-term aggregate supply curve (LTAS) is vertical, because as prices increase, all other cost variables (wages, etc.) increase as well so output does not change.

· The short-term aggregate supply curve (STAS) is upward-sloping, because as price increases, it takes time for wages and other variables to adjust (they are sticky) so that output can temporarily increase.
· Equilibrium Conditions
· In the long term, equilibrium will be where LTAS and AD intersect.

· In the short term, equilibrium will be where STAS and AD intersect.
· Changes to Aggregate Supply
· Any change that will increase output will increase the aggregate supply curve (shifts to the right).

· Any change that reduces output will decrease the aggregate supply curve (shifts to the left).

· Stagflation: is the combination of slow growth and inflation.
· Changes to Aggregate Demand
· AD will increase (shift to the right) if there is an increase in personal consumption, investments, government spending or investment, or exports.

· AD will decrease (shift to the left) if there is a decrease in personal consumption, investments, government spending or investment, or exports.
· Equilibrium Change
· If AD increases, the new short-term equilibrium will be where the new AD curve intersects the STAS curve.

· Over time, as wages adjust, the equilibrium will then move to the long-term equilibrium point, where AD intersects LTAS.

· Investment and Savings

· Investments are funded by either national savings (personal savings + government savings + business savings), or by lending from the rest of the world.
· In the U.S., foreign lending makes up for the low rate of savings.
Common Myths & Common Problems

· Can’t Fiscal Policy and/or Monetary Policy permanently increase output?

· No. The increase in production/output is only temporary. The increase occurs due to wage stickiness in the short term, but in the long term, as wages adjust, we return to the long-term production level. What happens is that AD increases from AD1 to AD2. Output temporarily increases to Q1, but returns to Q* as the economy adjusts.
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· Fiscal and Monetary Policies are only short-term effects. The only way to permanently increase output is to increase the LTAS through means that increase production (less burdensome regulation, technological improvements, etc.).
· The only real long-term outcome these expansionary policies have is the creation of inflation.
· If that is true, then why do people make such a big deal out of Fiscal and Monetary Policy?

· While expansionary Fiscal and Monetary Policies have no long-term effects, they are helpful if there has been a negative aggregate demand shock. If AD decreases due to faltering consumer confidence or a financial crisis, expansionary Fiscal and Monetary Policies can help move AD back to its original position and help mitigate the length of an economic downturn; see the graph below.
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Real World Applications from an Economist’s Perspective

During 2008, the economy experienced an economic downturn caused in part by the financial crisis in the banking sector. In the spring of 2008, Congress passed a tax rebate that may effectively operate as expansionary Fiscal Policy. During the summer, some politicians called for an additional tax rebate. They hoped the rebates would stimulate the sluggish economy. Using the tools you learned in this chapter, we can see how expansionary Fiscal Policy may help offset the decrease in aggregate demand created by the nation’s financial crisis.

The financial crisis, precipitated by the subprime mortgage foreclosures and the collapse of lenders in the banking industry, caused aggregate demand to decrease, because it became harder for people to obtain credit, and consumer confidence declined simultaneously. This led to a decrease in output that led to an increase in unemployment. See below:
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Congress hoped the fiscal stimulus package they passed would help “jump start” the economy by increasing aggregate demand back to its original level, where output would increase and unemployment would decrease, as the economy returned to its natural rate of unemployment. See below:
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Now it’s Your Turn
1.  Assume a large terrorist attack cripples the seaports of the nation. In response, money and resources are moved from the private productive sector into national defense and homeland security. Graph the effect on the economy using aggregate supply and aggregate demand curves, assuming we started in equilibrium. What should we expect to see happen to output? Would using expansionary Fiscal Policy be effective as a response? Explain.

2.  Stereotypically, Democrats have been known for advocating an increase in government spending on domestic programs to jump-start the economy and Republicans have been known for advocating a decrease in taxes to jump start the economy. Graph the short term and long term effects of both policies. In the long term, do their policy prescriptions differ?

Practice Quiz

1. Which of the following is NOT a reason why aggregate demand is downward-sloping?

a. The Income Effect

b. The Wealth Effect

c. The Interest Rate Effect

d. The Exchange Rate Effect

2. Which of the following does NOT comprise aggregate demand?

a. Consumption

b. Money Supply

c. Nonresidential Investment

d. Net Exports

3. The short-term aggregate supply curve is:

a. Perfectly Vertical.

b. Upward-sloping.

c. Downward-sloping.

d. Circular.

4. The long-term aggregate supply curve is:

a. Perfectly Vertical.

b. Upward-sloping.

c. Downward-sloping.

d. Circular.

5. The shape of the short-term aggregate supply curve is caused by:

a. Flexible wages and input prices.

b. Sticky wages and input prices.

c. The government.

d. Fiscal Policy.

6. An increase in exports will:

a. Increase short-term aggregate supply.

b. Increase long-term aggregate supply.

c. Increase aggregate demand.

d. Increase both aggregate supply and demand.

7. A decrease in consumption, holding everything constant, will:

a. Decrease short-term aggregate supply.

b. Decrease long-term aggregate supply.

c. Decrease aggregate demand.

d. Decrease both aggregate supply and demand.

8. What are the two ways a nation may fund investment?

a. National savings and lending from the rest of the world

b. National savings and lending to the rest of the world

c. National debt and lending from the rest of the world

d. National savings and trade deficit

9. The aggregate supply curve is:

a. The link between monetary policy and inflation.

b. The link between the average price level and the aggregate quantity of goods and services produced.

c. The link between money supply and the aggregate quantity of goods and services produced.

d. The link between the average price level and the aggregate quantity of money supply in the economy.

10. Stagflation is:
a. Where there is high growth and deflation.
b. Where there is slow growth and inflation.
c. Where there is slow growth and deflation.
d. Where there is high growth and inflation.

Answer Key

1.  A

2.  B

3.  B

4.  A

5.  B

6.  C

7.  C

8.  A

9.  B

10.  B

